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Short and swollen underground stems containing
stored food are called v

suckers & (D)

1.1-

thizomes 0l (C)

2- is an example of receptor.

eye #7(D) brain  {bs (C)

3- The step of joining specific amino acids by ribosomes

to form protein is called

duplication u’»“"@ﬁ (D) replication u“""a@(C)

4. The relationship between two different species in which one partner
is benefited whiie the other is neither benefited nor harr_ned is called

commensalism (ﬁ’u’f (B)
competition uﬁ:d.{ (D)

5. The situation where, in heterozygous genotypes, both

the allels express as a blend is called

co-dominance ¥ (B)

vy (D)

recessive

6 - Which one of the following is an example of the hallucinogehs?

aspirin ¢/ £ (D) codeine: ¢3¢ (C)
7- The weight of kidney is gm.

140 (D) 120 (C)

8 - Conversion of nitrogen gas into nitrates is called
A (B)
nitrogen fixation cff{ﬁ:/"t (D)

assimilation

9 - Which one of the following is antiviral protein?

interferons 732 £1 (D) insulin dgrj' ©€)

10 - The number of bones in vertebral column is

28 (D) 26 (C)
11- Normal per minute breathing rate in human is
30-40 (D) 25-30 (C)

12 - Which part of plant develops into fruit?

ovary (s (D) embryo 4 4 (C)
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transcription
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bulbs ¥ (A)

PN g

musdles +(A)

corms 74/ (B)

glands 14 (B)
/

Sl p Lt hay Six /;J/.ff'/w S8 il

FAE 21

KA B) tranflation E (A)
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SG ot S gL s A
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rfutualism (K (A)

Jparasitism (A% (C)

HUH B e 52 s g Jo S

_§_ng o L 2B Y

incom/zﬂete dominance U H (A)

7 dominance 5 (C)

/
/ S Jo o sk e U it
morphjne c/é/l. (B) mescaline JfK/ (A)
f,ff - W3 ri/ s Kg)/';

100 (B) 80 (A)

<« t‘Ml'f;;/J:)iuﬁ J‘:j/l:fu(u@/"/t

denitrification u’«‘%}{w;‘ (A)
31 (©)
‘e g-jf)/_, Jfbu.;t' o":rc.w J”}Zy/)
urokinase 64 (A)

ammonification

{
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[ thymosin ¢4 (B)
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24 (B) 22 (A)
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BIOLOGY Paper: 11 < We 11 &J&J;‘ Gl (15°A 224) II 24 | Gl

Time: 1:45 Hours  Group: I SUBJECTIVE _ - dui oSy & 1452

Marks: 48 &/ // —) 48:U%

Note: Section I is compulsory. Attempt any TWO (2) (2) e JJ(:.' ufr»,.» -4 Jil oo s
questions from Section IL Section - I Jil o -Ju&')’f&uﬂb’

_ 2 - Write short answers to any FIVE ('5) questions.  (2x5=10) _é{/:aglﬁ/:?éamf () é& & JJ(' 2
i- Whatis pharynx? e VUR -

ii- What is the function of fluid present in pleural membrane? e ¥ Vet g At -
iii- Why does the skin colour of pneumonia patient become dusky? S Ul » ud Ao et B Ly i

iv- Whatis dialyzer? S YA -iv

v - Write two problems after kidney trahsplant. _éfv_f“/flﬂx pat X U.,/U [}ff -v
vi- Write two functions of oxytocin. -z:;f}(» L yrih u’io’rf -vi
vii - Write two hormones secreted by ovary. 2 s wdols ot Ll e Yoyl - Vi
viii- Whatis epilepsy? e |f Sp -vidt
3 - Write short answers to any FIVE (5) questions.  (2x5=10) -z;”//.,u;/ff...,my (5) é b Jf 3
i- Whatis meant by antagonistic action? Va:ylfc;uf!u@ftﬂ -i
ii- What are ball-and-socket joints and where are these found?  Sup Zb &4 U sl up &w f2il SAldatdy -
iii- Define external fertilization. SR SRS J’kﬁ - i
iv- What is the difference between spores and endospores? fe 3/ qu‘ Skl b s - iv
v - Define incomplete dominance. ibﬂ/"d/u"v;; J"(L -v
vi- What names are given to bred animals and bred plants in f;.;g (Bred) 4« s 19 (Bred) ks J2 5t J7 -vi
artificial selection? bzt

(15D _

vii- Define theory of special creation. gy J é/’j L P 6% -vii
viii - What are the traits? St c’f < u"/ - viii
4 - Write short answers to any FIVE (5) questions.  (2x5=10) -zf//’..,uyﬁz:vuv (5) é e Jf 4

Define ecosystem. Give name of an artificial ecosystem. JE e J(/fl Sl P J(’/fl -
g LS S S LT i
NPV O
survive without host? sud (AL
iv- What do you know about ozone depletion? el Lf{l'&wé S -iv
What is application of fermentation in beverage products? T JE Y «f%}/dl thﬂ{ - Y
s Ln U hds v
(‘uf.s"& J//;u: Sl U/L'))Q,é e &gl il
viii - How bacteria develop resistance againt antibiotics? Ut S 4 ey S L J% L /g'-? - viii
Section - I (13 @

i-
ii - How do you define an ecolegical pyramid?
iii- Why host gan survive without parasite but parasite cannot st LA fr% CCD/ ok L

V -
vi- What are interferons?
vii- What are two precautions before taking medicines?

Note: Attempt any TWO (2) questions. -éal,'i.ﬁ..c:aﬂlr‘ (2) e é/ b
5 - (a) How kidneys perform their osmoregulatory function? (4) Sutz r(f’/c.{g)”(j}:!f/ Wl (L) -6

(b) Write the structure of bone. (5) S sl Jé4 ()

6 - (a) Whose role is to regulate the blood glucose concentration (4) b G e4, !)’”' S /"“( g A SAurL (2 () -6
in the body and how do insulin and glucagon function in ufK!(J)’ uf.}r;I - i fyni fe.
maintaining this balance? St L/r(d:

(b) Write a note on female reproductive system in rabbits. (5) _&Jdaj{ ("/ffb/vd/ b o B ()

7 - (a) How can we get gene of interest by the process of (4) Eab ot Kufv @ aL Lo e () -1

genetic engineering? oSS
(b) Describe sources of drugs in detail. (5) LB ke J:‘;‘T(‘,Z!A LSSt (L)
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Time: 15 Minutes ~ Group:II OBJECTIVE % 1"/ IO o LR

Marks: 12  Code: 7464 C/C/ a2y 12 : /%
L AR e U Ussb £ &5 2L Jy s £ (},dei Ul éc’r) DsCeBcAlz j/?é: Iy 1ed
K b 2 i a/r’JL//;',/&KLL//:)(w?U b s wil ~En K e ﬂL/CL I o 3 Jbr

1. 1- Number of bones in human skull is < sl J,U:Jé ¥ dg/[}u'i -1.1
26({D) - 24 (C) ' 14 (A)
9. 50kg yeast can produce 250ton protein in g = S8 é:fi./i,"v? qu of 250 f e rI/;KSO -2
&5 26 hours (D) & 20 hours (C) ' &5 24 hours (A)
/
3. Biotic component of ecosystem is ' H & 9% L K(/;{! -3
oxygen J{" (D) sparrow 7 (C) temperature Zy:‘ (B{ soil u'” (A)
: /
4 - Ripened ovary forms ; /‘ / < Js /V{ Yasl -4
3 :
egg £ (D) fruit J% (C) " seed //@ (R) sperm (4 (A)
/
/ e -
5- Organ which is responsible for filtering blood JARR TSP KL/}*’/U?JC! L/uf -5
kidney ./ (D) stomach o4+ (C) braif {As (B) intestine &2 (A)
6- Inheritable characteristics are called Ut S .;g»,) S -6
traits u”:/‘ (D) phenotype .;rL‘y’ (C) geng{ics u’g'f (B) genes & (A)
/o .
7. Antitoxins are obtained from Iﬁ*uj‘ dlg JJ"b /KL”L‘S"I o u’(c, o J_s,yu.:» -7
minerals <« =t (D) fungi <= dLs’ (C) /pflants o U»{ (B) animals < Usfe (A)
8. Processes that carry nerve impulses away from ’,"’{ Sl me SuFS AR E L -8
the cell body
dendrites u“/iz,‘c’d (B) / axons SE (A)
myelin sheath  #2* (D) / synapses %4l (€)
9 - Units of inheritance are / U upyl Sty -9
/
alleles 4 (D) DNA 16} 9:2) histones # (B) genes 2 (A)
/ ;

10 - First trophic level in an ecosystem is / e b Jd By S (/:{l - 10
producers J/g}i{ (B) : comsumers }/.;')'/ (A)
symbionts ‘L/ (D) decomposers ;,;rfds ©)

11- Method of asexual repreduction in Rhizopus is 2 b Kuig,4d/ J;/?/_J S -1l

budding £ (B) binary fission  ¢*A (A)
endospore formation Sk skt (D) spore formation /b e (C)
12 - Most of the gaseous exchange in a leaf occurs through fe by U D ki KU n’//u’: z -12
general surface <« 5((& (B) stomata < b (A)
lenticels < X¢¥ (D) - suticle. = % (C)
7
120-(II) -15t A 224-59000 4
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Time: 1:45 Hours  Group: II SUBJECTIVE (&I .7;/4/» & 1:45 .
Marks: 48 {/707 ~L—2Y 48:‘}51-

Note: Section I is compulsory. Attempt any TWO (2)
questions from Section IL
2 - Write shm:t answers to any FIVE (5) questions.
i- Write two bad effects of smoking.
ii -  Write the role of air spaces f:)und among inner cells of
leaves and stems.

Differentiate between acute and chronic bronchitis.

i1l -

iv- What are hydrophytes? Give an example.
v- How plants excrete their metabolic wastes?
vi- Whatis the role of vitamin 'A" with vision?

vii- How do stimuli provoke-responses in organisms?

viii -

3 - Write short answers to any FIVE (b) questions.
i- Differentiate between locomotion and movement.
ii - How does osteoporosis occur?

What is alternation of generation?

iii -
iv- Write down two disadvantages of vegetative propagation.
v - How transcription is different from translation?
vi- Write the names of four nitrogenous bases found.in RNA.
vii- Define Mendel's law of independent assortment.

viii- Differentiate between genotype and phenotype,
4 - Write short answers to any FIVE (5) questions.
i- What are consumers? Give one exapmie.

" Name two processes which upset the carbon cycle.

i -
iii - Define commensalism. Give example.
iv- Write the names of two green house gases.
v- Why is biotechnology important for environment?
vi- What are interferons?

vi -
viii - Name two drugs, derived from minerals.
. Section
Note: Attempt any TWO (2) questions.
5 - (a) What is meant by kidney failure? How it can be treated
by kidney transplant?
() What is a joint? Describe its types on the basis of
degree of movement.
6 - (a) Explain the process of hearing and describe the
role of external ear in it.
() Explain the structure of flower by drawing its diagram.

7 - (a) Compare the batch fermentation with continous fermentation.

(b) Explain mode of action of vaccines.
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Section - I JJ! - 3

@x5=10) -Z ez Loy )b 0 -2

How many are the main components of co- -ordination process?

@x5=10) -2 felnF Ly (6) 6L 0F -3

Why the antibiotics are not effective for certain bacterial infection
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